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Section A: Listening and Writing
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Task 3

Task specific guidance

o Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

) For single mark questions no annotation is necessary just enter 1, 0 or NR.

o There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark
or when a word in the response invalidates an otherwise acceptable answer.

) You may also use the highlighter tool to show harmless additions.

o Answers in Gujarati get no marks.

Question Answer Marks Guidance
[15]
€) She travelled on the family lorry [1] accept lorry carrying their goods (any sense of the lorry belonging
to them)
(b) (i) their seats [3]
(ii) atable to play cards on
(iii) their bed
(c) It was as good as Business class travel (by air [1] accept same as / no different from business class
today)
(d) (She saw them in) the natural surroundings [1]
(e) (i) (Going to the zoo) does not attract her [2]
(i) Because animals are in cages
()] accept any two of [1]
they enjoyed fresh food,
clean water,
clean air,
relaxed

removed all the toxins (in their body)




F883 Mark Scheme June 2011
Question Answer Marks Guidance
[15]
(9) going to relatives’ / friends’ homes [1]
going to the river (with her friends) [1]
(h) see other towns (near her village) [1]
() It was simple / without any running around [1]
() Family members argue about the destination [1]
(k) causes pollution (for the Earth) [1]
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Task 4 10 marks for Communication (Grid H1), 10 marks for Quality of Written Communication (QWC)

Task Specific Guidance

o The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to
assess the QWC.

o Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points
across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker /
sympathetic examiner” and give credit accordingly.

Annotations:

In the body of text, use a tick (v) to show that a point has been fully and successfully conveyed.

If an element of the point has been omitted, use the caret sign (4).

If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.

Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.
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Question Answer Marks Guidance
[10]
qQ. €2 qqé qau °Kl6 §9 accept overseas
R. 8a § Aottell sl oA ©
3. HIR oUMS ulag B
¥, AH3L A UM IPRA / duncl B
u, slAauHl AR sclloll w2l AY § / A A6 Y
S. M3 ulclle] Mg ®
9. AR Hol BUSLAA YEL YEL AlRL EWLSA / ccllal
¢ § olloll &cll RUR R $cll AH
c. AtlRietl stHell Rl ot 5220
0. SRR 3§ el RASHL / AuaUML ol AsYFHL /
tleuHi HeE 53l




F883 Mark Scheme June 2011
COMMUNICATION
GRID H.1 10 marks AO2
9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
34 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.
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QWC: Read response again and assess for language.

o Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.
o Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year

beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the
performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE — ACCURACY

GRID C.2 10 marks AO3
9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.
Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of
7-8 complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex
areas.
5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some

correct use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,
34 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite
strongly influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of

0-2 common nouns). Frequent first language interference.
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Task 5a
Question Answer Marks Guidance
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Task 5b

Question Answer Marks Guidance
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Task 6

Task specific guidance

o Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire
page will then appear on the screen for you to assess the QWC.

) Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not
appear on the screen.

o Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL

C. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with
single words / short phrases.

Annotations:

. Award 1, 0 or NR without annotation.

o Use a tick (V') to indicate a mark awarded on any question where the answer is more than one mark.
o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

o Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

11
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Question Comprehension points Marks Guidance
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Question | Comprehension points Marks Guidance
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Assessing Quality of Written Communication

a. You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the green L marking tool
to highlight good language to assist you in the application of Grid C.2. but it is not essential.

b. Apply Grid C.2 and enter the mark.

C. When candidates have left several questions unanswered, click on “fit height” to have an overall view.
. If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band
o If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

QUALITY OF LANGUAGE - ACCURACY

GRIDC.2 10 marks AO3
9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.
7_8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.
5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some

correct use of complex sentence structures. The performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,
3-4 adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite
strongly influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common
nouns). Frequent first language interference.

14
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Task 7

Task specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the candidates’
work will appear on the screen. You will have three successive screens 7a, 7b and then 7a + 7b again, but without the annotations in order to assess
QwcC.

Screen 1 Comprehension. Grid | [10 marks]

a. Annotations:

o In the body of text, use a green spot v to show that a point from the mark scheme below has been fully and successfully conveyed.
o If an element of the point has been omitted, use the caret sign (4).
o If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

The annotations will give a global impression to help you apply Grid | accurately and consistently.

b.  Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark.

C. Copying / lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3—4 marks for (a) if the entire
answer is lifted (see Grid I). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (......) to show lifted language.
Only phrases of 5 words or more should be counted as lifted language.

15
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Point Principal ldea Accept Do not accept
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COMPREHENSION OF TEXT

GRID | 10 marks AO2

9-10 Consistently relevant information. Includes nearly all the points from the original passage. Shows a very clear
understanding of the text.

7.8 Relevant information showing understanding of up to two thirds of the points from the original passage. There may be one or
two instances of lifting from the original passage.

56 Some relevant information showing understanding of up to half of the points. There may be instances of lifting from the
original passage.

34 Little relevant information. Includes up to a third of the points, showing understanding of some of the points. Over-reliance on
phrases lifted from the original passage.

0-2 No relevant information or supplies one or two relevant points from the original passage.

17
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Screen 7(b) Response Grid J [20 marks]

Annotations:
) Use the green tick (v') in the body of the text to show each opinion / personal response and a green tick (v +) in body of text to show a
development / extension of the opinion. NB: one opinion may have several extensions.

Grid J: Looking at the annotations, assess the quality of the response to the text and apply Grid J. NB: “imagination” and “insight” are interpreted
conservatively. The number of ticks you have awarded will indicate a mark band. You must then use your professional judgement to fine tune your
marking. You may look at the quality of the candidate's points and go down a mark or two if they seem rather pedestrian or repetitive. Similarly an
attempt at originality or humour could gain an extra mark or two. Enter your mark.

GRID J RESPONSE TO TEXT
20 marks AO2
16-20 Responds with well developed points of view which show insight, originality and imagination.
12-15 Expresses points of view which are consistently developed and respond to the requirements of the task. Shows some originality

and/or imagination

8-11 Expresses points of view which respond to the requirements of the task. Some of these may be developed and there may be
some originality and/or imagination.

4-7 Manages the beginning of a response to the requirements of the task. May have difficulty in expressing and/or developing points.

0-3 Very short. May not go beyond points of view already expressed in the original text.

18
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Screen 3
7(a) + 7(b) — Language (QWC) — Grids C.2 and F.2: [20 marks]

a. Read the whole response again and assess for Range (Grid F2) first — i.e. vocabulary and structures. Then assess for Accuracy (Grid C2). Key
words have been highlighted in the grids below. Ignore final sentence of 3—4 band in Grid C2, because vocabulary and structures have already
been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply
Grid C.2, but it is not essential. Enter your mark.

b. Ignore language lifted from the text when assessing language (See Screen 1 above). Lifted language is not credited for QWC — only content
points and/or personal response.

19



F883 Mark Scheme June 2011

GRID QUALITY OF LANGUAGE — ACCURACY GRID E.2 QUALITY OF LANGUAGE - RANGE

C.2 10 marks AO3 ' 10 marks AO3
Characterised by a high and consistent level of accuracy Effective and confident use of a wide range of

9-10 in use of complex structures, although there may be some 9-10 vocabulary and idiom with a variety of complex sentence
errors. structures.
Language generally accurate. Shows a sound grasp of AS Effective use of arange of vocabulary and structures
(and/or A2) structures, as appropriate. Generally correct use appropriate to the task, with little repetition. A positive

7-8 of complex structures. Tenses and agreements good, 7-8 attempt to introduce variety and to use a range of
although there may be some inconsistency and errors in complex sentence structures (though not always able to
more complex areas. maintain correct usage).
Shows evidence of fair understandlr_lg of grammatical Attempts to extend the range of vocabulary, though still
usage. Generally accurate use of simple sentence "

rather repetitive. Attempts to use more complex

5-6 structures. Some correct use of complex sentence 5-6 lanquage with some success in producing a range of
structures. The performance is likely to be patchy and ? 9 d ¢ truct P it gt th % K
inconsistent. syntax and sentence structures appropriate to the task.
Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.

34 common nouns, adjectival agreements) but evidence of 3.4 Frequent repetition of the same words and phrases. Some
correct use of simple sentence structures. (Vocabulary attempt (not necessarily successful) at the use of more
and structures may be quite strongly influenced by the complex sentence structures.
candidate’s first language).
Little evidence of grammatical awareness. Persistent,

0—2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited vocabulary.

gender of common nouns). Frequent first language
interference.

Very limited range of structures.
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Transcripts of Listening Texts
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U AUR dRg Y2 el AL w1g HAsl Gl

Al R: SRl
UsARLASIR

ol USEl oRUctotl AUHSLOUHHL cull-aill o} Aal Sl wg Ast sctl. HA FUEARA A S1E g2 AL st anri da Ned W ¥l
HlolU Ut el ¥ cvtall olost SlESoll USIRA Al H L L SlHoll A UL Yselell USAl URL WUHIRL AMEL UMM a2l L st (At 531
WUl AU Qetsoll alsuiell Rgtt gal ugl Qull auHHl Wdlell atiots sl s {lotti Wl sl wat oltsloll AH2A JUHASIl AcuMl cldtaldl. ewel
wsalSalotl A (R ad wadl. A v R ad oldR aueis? As Aol st Wresls, ol seH AR dAUR $31 ddidl. Sl @l stata ail Aetauadl dl
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Task 3: Listening

Changes in Tourism

U551l HRLIUHHL $5 YLUBLs @aun Aed ASHL ol U 1 WA AllSST UL AU 5l AL WA A Al A ¥l AUH ¥l
WUHIRL gslotil Auclloll A A AUMRA W2LRL AUH ¥l Slal Axl o A doR [B(52 ARl cll. WalRiHl aUs Al otiosoll oJell0 GUR WA LS
WUt el Ul vl g3 Hi Al o Al Ass, B o ML Ul U HIZe] Ay el W % WHI] valdl.

U6 sAlsoll ML wl Yus3| el [Qutlotoll ollosaxt sclttoll Yas3l sl S5 A 51 ot scdll coll AolAa A Xl wWHA Wals Rl URaR,
stellatl 2l e ol Sectial yellal, AHetl sl aldialRRiHl Blal Hodl, W WHER Wdletd’l. wl? HRl A Hal tell awtd yellaAxi
el W2YS $2 B, ULl M2l Hlel UixAHL 3 AWAL YtellAl lal wclls] vsel Hal s Ud ol

oM USRI Aed Ulell Uddl Al uisll aict Yo, vl scll-well U dtest WRLse{l 1ot HRllal wHIRL AR Wal HatHl A0 UAA 5UA sladl.
W dl A ouMetl Aoitlell H MRl Heldl ax ¥ Al WA AlEotRel [REMM Yg@Bll Bilole dedl. S8 cdud Hul 1R Wl
UYLl ASAHL Al 82t Al HRL ety A AW AZAol| Yellslcl URL Adl. ol G AE Yol & WHIZ. ol(d 818 w8l Elstti ¥ oi[d 51 vilal
IS,

ol ARAUR? Mol USAL, “Ul Yl 5cll 3 WAL A otssl scllHl 520ttt UeA A F2Al HAAE AU 3l A Ul Yl HIZell Hslol Wi
USRAl anal 1R sl ud. coll wues] Wat edle] yeldta, wuell yeca 818 o 516 Iad Ug@dt 52 B, A gedoas(l ¥ cld Ut aUl
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